BC-13

December — Examination 2023
B.Com. (Part III) Examination

Management Accounting
Paper : BC-13

Time : 3 Hours | [ Maximum Marks : 70

Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section—-A 7x2=14
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.
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State two limitations of Management
Accounting.

Yo @R i af U Sqisy |

What do you mean by the term ‘Financial
Analysis’ ?

foritar fageromr’ & eyt o e ¥ 2
What is Balanced Capital Structure ?
ggfera qsit S = F ?

Give five examples of Current Assets.
o] T & uter S e |

Give five examples of Current Liabilities.
e Sl & ure S SIS |

Give formula for Current Ratio.
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(vi1) Give any two applications of Fund.
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Section-B 4x7=28

(Short Answer Type Questions)

Note -— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 7 marks.
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. Define Management Accounting and discuss the
function and limitations of Management

accounting.
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. What is meant by Capital Structure ? Explain the

theories of capital structure in brief.
It TT= T | M SRE § 2 UST W & fasr
TEY T HEHET |

. Describe the difference between Cost Accounting,

Financial =~ Accounting and  Management

Accounting.
NG oRed, faxia e 9 Yo o & sig
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. Discuss the objectives and significance of Cash

Flow Statement.

Tohe JaE foaeror & Sevdl iR Hec W ==l hifed |

. Explain the difference between Flexible Budget and

Fixed Budget.
TAfRISA SIS 3R TR SIS H I T AU ISy |

. Explain the various types of Ratios.

faf= YR & ST ST AT Hif |
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8. Examine the following information and find out

Current Ratio :

frefafea gamel &1 ST Hife qor =% sTg9 [
aﬁm :

Sales (Assumed to be all credit) 3 4,00,000
Gross Profit Ratio 25%
Quick Ratio 0.80
Current Liabilities 340,000
Closing Stock < 40,000
Opening Stock 340,000
Inventory Turnover Ratio 6 Times

9. Explain the need and scope of Capital Budgeting.
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Section—C 2x14=28
(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.

Each question carries 14 marks.
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10. What do you mean by Report ? Explain the type

of report.

yfaeeT | Y o 99ed € ? Wfdegd & YHR hi
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11. Define Management Accounting. Explain the
utility of management accounting in business

management.
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12. A machine has a cost of ¥ 3,20,000 which has 13. What is Fund Flow Statement ? Why is it

economic life of 5 years and scrape value at the prepared ? Give its uses and limitations.
end of 5th year is ¥40,000. It will generate cash e e faeo = § 2 T o 99ur T S w2
inflows in the following manner : e YaE faeto & 3PN 9 HiHd S|

T W i wm ¥3,20,000 ¥, fSwes enfie
STaeRTel 5 9TE © T 59 96 | eTafiTe 7 T 40,000

T 3T kg oTyae 7= s | B

Years %
1 80,000
2 1,60,000
3 1,20,000
4 60,000
S 20,000

These estimates are before depreciation and tax rate

is 50%. Calculate accounting Rate of Return.
A FTIAH B & T TE B R R 50% T TR hi
Y™ T A HIFST |
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